
7×2 - Yy
-IO D:(x.yl such that Rizzo zerg --

7×2+44219fcx ,01=7×2 = gcxl÷r¥µ¥÷i÷÷"fo⇒ .

..
"14,940main

1-1
↳
only interested in
positive domain



Mmm
f.
""""s

Ifcx,yi=kh3
↳ paraboloid



We already know this is a paraboloid , but let's pretend we have no idea

what::÷÷÷iq÷÷"""" '

{ I ya .io -at § ya#o - 5=5
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(exactly the same problem as the one above )

E-÷. E.÷. Ex:*. ¥
EI:*. ¥9.
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9- ×a - ya - za -- O {FI a

①
xatyatza ⇐ 22 e- ball

for xatyatza -- a → to { ⇒*rap!#⑧
for (x , y ,

z ) = (0,0 ,
o ) → 5=59--7

Ttx
, 0,01 = Tfa = gcxl OEXET (continuous function )

R -- [0,31

* Note : you cannot stretch in 4D when stretching level surfaces .
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* Same color = same height
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